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Q1. Choose the best word from the options given to complete the following passage. 

Humans unlike many (a)………………………… animals, are omnivores. We require (b)…………………….. 

vegetable matter and meat to be fully healthy. (c)…………………………………….. some humans 

(d)……………………………….. to survive reasonably (e)…………………… whilst consuming no animal 

products at all,  (f)………………………… their protein mainly (g)…………………………… nuts and seeds. To 

carry out its many complicated functions, the human body (h)……………………… seven categories 

namely carbohydrates, proteins, fibre, minerals, vitamins, fats and water which form a balanced 

diet.   

a) i)   another    ii)   other 

iii)  others    iv)  anothers 

b) i)   neither    ii)   together 

iii)  either    iv)  both 

c) i)   if     ii)   although 

iii)  so     iv)  therefore 

d) i)   manages    ii)   are managing 

iii)  had managed   iv)  manage 

e) i)   healthier    ii)   healthily 

iii)  healthy    iv)  healthiness 

f) i)   find     ii)   found 

iii)  finding    iv)  finds 

g) i)   into     ii)   in 

iii)  inside    iv)  on 

h) i)   required    ii)   is requiring 

iii)  require    iv)  requires 

 

Q2. The following passage has not been edited. There is one error in each line. Underline the 

incorrect word and write the correct word in the space provided. 

Till a little years back, there were    ………………………………… 

separate machines from printing,    ………………………………… 

scanning, copying and faxing, and this    ………………………………… 

is no long the case. Nowadays, the    ………………………………… 

complete segment on ‘all-in-one’ printers   ………………………………… 

offer copy, scan, fax and print options,    ………………………………… 

plus excellence photo printing. All-in-one   ………………………………… 



printers are sell in both inkjet and    ………………………………… 

lesser models. 

Q3. In the following passage one word has been omitted in each line. Write the missing word in the 

space provided along with the words which comes before and after it. 

 Ariens prefer choose vacation spots that  ………….. ……………………………………. 

 offer new thrills, and often go outdoor   ………………………………………………… 

  adventures test their endurance.   ………………………………………………… 

 Being fire sign, they prefer warm, dry   …………………………………………………. 

 climates cold locales. Africa, Australia and Rajasthan …………………………………………………... 

 in India the best holiday destinations for them.  …………………………………………………… 

 A camping trip involves many adventures rock climbing,  …………………………………………………… 

 sky diving bungee jumping which is a perfect deal …………………………………………………. 

               for them. 

 

Q4. Given below are some instructions. Use them to complete the paragraph that follows. Write the 

correct answer in the space provided. 

How To Make Chocolate Brownie 

Ingredients: 

• 340 gm dark chocolate    ½ tsp baking powder 

• 3 eggs      100 gm flour 

• 200gm sugar     110 gm unsalted butter 

• 3/4
th

 tsp. vanilla essence   1/4
th

 tsp. salt 

• 50 gm walnuts, chopped 

 

Method: 

• Melt the chocolate and butter in a double boiler until smooth 

• Stir the flour, salt and baking powder together. Set aside 

• Blend the eggs and sugar together and add the vanilla essence 

• Add the melted chocolate and butter to the eggs and sugar mixture and mix well. 

Fold in the flour and the baking powder mixture 

• Add the walnuts and pour the batter into a greased tin. Bake at 180®C for 35-40 

minutes 

• Allow to cool before cutting into squares and serving 

•  

Here is how sinfully delicious brownies fillet with the gooey goodness of dark chocolate and crunch 

of walnuts can be made at home. First of all, the chocolate and butter (a) …………................................ 

…………………………………………………………………………………………………………………………………………………………… 



until they are smooth. Meanwhile the flour, salt and baling powder (b)……………………………………………. 

…………………………………………………………………………………………………………………………………………… aside.  

Next, the eggs and sugar (c) ………………………………………………………………………………………………………… 

……………………………………………………added. Now the melted chocolate and butter (d) …………………. 

……………………………………………………………………………………………………………………………………………..well. 

The flour and the baking powder mixture are folded to prepare batter. At this stage, the walnuts  

(e)………………………………………………………………………………………………………………………………… and baked at  

180®C for 35 to 40 minutes. When cool, neat square brownies (f)…………………………………………………… 

……………………………………………………………………. with a scoop of ice and cup of coffee.  

 

Q5. Given below is a conversation. Complete the dialogue by filling in the gaps. 

Kunwar:  Do you think corruption can be eradicated by (a) ……………………………………………….. 

  ……………………………………………………………………………………………………………………………………… ? 

Bharat:  I am not too sure but Anna Hazare’s fast unto death (b) ………………………………………… 

  ………………………………………………………………………………………………………………………… didn’t it ? 

Kunwar:  But why did he take so long to begin his fight against corruption. 

Bharat:   Well, Anna Hazare’s battle (c) ………………………………………………………………………………………. 

  ……………………………………………………………………………………………………………………………………. . Its       

  been going on for years. The rampant corruption in recent times promoted him to go on  

  fast unto death.  

Kunwar:   It was nice to see (d) ………………………………………………………………………………………………………… 

  ……………………………………………………………………………………………………………….. . It really looked     

   like a fight for second independence. 

 

 

 

------------------------------------------------------------------------------------------------------------------------------------- 

 


